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Q.14 FIND THE NEXT TERM
20,10,10,15,30,?
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Q.15 FIND THE NEXT TERM
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Q.16 FIND THE NEXT TERM ('—7«8
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Q.17 FIND THE NEXT TERM
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Q.18 FIND THE NEXT TERM
6,7, 16,51, ?
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(a)258
(b)208
(c)234
(d)254
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Q.19 FIND THE NEXT TERM
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Q.20 FIND THE NEXT TERM
196, 200, 209, 234, 283 ,?




Q.21 FIND THE NEXT TERM
1,2,5,26,?,485330
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Q.22 FIND THE NEXT TERM
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Q.23 FIND THE NEXT TERM
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Q.24 FIND THE NEXT TERM
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Q.25 FIND THE NEXT TERM
16, 15, 20, ?, 102, 221
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Q.26 FIND THE NEXT TERM
1000, 992, 1019, 955, 1080, ?
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Q.27 FIND THE NEXT TERM
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Q.28 FIND THE NEXT TERM
90,92,172,492,1904,? [Fo|

(a)9360
(b)9340
(c)9350
(d)9365




